1. Gx+dh)?=a+bxy+cy* €W, A5Fa,b,cFat+b+c

29

D 11 @ 19 ® 25 @ 31 @49

(3x)%2+2x3xx4y+ (4y)? = 9x% +24xy+16y* °| B2 a+b+c =
9+ 24+ 16 =49 o[t}




D (a-b)*=(a+b) @ (a-b)*=(-b-a)

—(a+b)2 — (—a+b)2

(a-b)? = a® - 2ab + b?

(=b - a)? = a® + 2ab + b*

(a+b)? = a®+ 2ab + b?

(=b - a)?® = b? + 2ab + a*

@ —(a+b)? = —(a®+ 2ab + b?)
= —a? - 2ab - b*

(-a+b)? = a® — 2ab + b*

® (b-a)?=b?-2ab+ a*
(-a+b)? = a® — 2ab + b*
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(x +)? = 2* + 2xy + y*(m?)
(x—y)? = x* - 2xy + y*(m?)
@(X+y)(x—y) = x? —y?(m?)
(x +y)(x—y) = x* + y*(m?)
(

x+y)(x+y) = x* 4 y*(m?)

Mz 2T 7k29] 40| (x4 y)m, A2 Zo] (x-y)m
FZO ol ! (x+y)(x—y) = 2* - y*(m?)




& 19
99l 2ol st g vl SEMEE 42 m
° :

1 /

@ (a®-3a+2)m? ((@(a2 + 3a + 2)m?
® (a®> +2a+1)m? @ (a® - 4a+ 4)m?

® (a®+ 6a + 9)m?

Loyt sjeke] 7429] o] (a+1)m , A22] 4ol (a+2)m
wabA sfeke] Hol (a+ 1)(a+2) =@ + 3a+2 o]t
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@ (2x+2y)(3x +y) = 6x2 + 8xy + 2y2

@ (2x-2y)(3x +y) = 6x% — 4xy - 2y
@(2x +2y)(3x —y) = 6x° + dxy - 2y°
@ (3x+2y)(2x-y) = 622 + xy = 2

® (3x—2y)(2x +y) = 6x2 — xy — 2y?
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At B10] 7129 dol= (2x + 2y),
A=) dol= (3x—y) °Ith
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(2x + 2y)(3x —y) = 61 + 4xy —
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(x=y+2)(x+y+2z)5 AMH7] Asl 7HE

O {(x+y) -2} {(x+y) +2}
@ {(x-y) -z} {(x+y) -2}
@ {x-0+}{x+0-2}
@{(x+2-y}H{x+9+}
® {(x-2) -y} {(x-2) +y}
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<§x> +2X(§x)x5+52+a
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:Zx +5x+25+a

25+a=21
a=-4, b=5
sLa+b=1







10, (3x-2)? - (2x + 2)(-2x + 5) & A5F?

@13)62—18)6—6 @ 10x2-8x+9
@ 10x%2 -16x-11 @ 10x%>-8x+19

® 13x2-12x+ 19

(3x=2)2—(2x+2)(-2x+5)= (9x2 = 12x+4) — (—4x® +6x+10)=
13x%2 - 18x—6
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@ xy+4x+ 3y @ xy+3x+ 4y

@ xy+3x+4y+3

@ xy+4x+3y+4
@x)’+4x+3y—|—12

(x+3)(y+4) =xy+4x+3y+12




@ (a+b)
)

@ (x+a)(x+b)=x*+(a+b)x+ab

(a=b)=a® =17

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd

(100 4 2)(100 — 2) = 1002 — 2% = 9996
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@® 2012 = (a-b)?

@ 499> = (a+b)?

® 9972 = (a+b)(a-b)

@ 103x97 = (ax+b)(cx+d)

@104x105 = (x+a)(x+b)
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@ 201% = (200 + 1)® = (a + b)?

@ 4992 = (500 — 1)? = (a - b)?

® 9972 = (1000 - 3)? = (a — b)?

@ 103 x 97 = (100 + 3)(100 - 3) = (a + b)(a - b)
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1 1\? 1
(5x)% =2 x 5x x §y L (iy) = 25x% — 5xy + é_lyQ

a
- =25x4=100
b X




(x=6)(x+a) = 2 + (=6 + a)x ~ 6a A x o] A%} 5 22
FPOUE _G44q=50]1, q=11 °|t}.
et AeFe —6a = (-6) x 11 = —66 ©]Tt.
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® 912 > (a+b)? = a® + 2ab + b?

@ 597% - (a-b)? = a® - 2ab + b*

® 103% - (a +b)? = a® + 2ab + b*
@)s84x75 > (a+b)(a-b) = a® - b?
® 50.9%x49.1 - (a+ b)(a—b) =a® - b*
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@ 84 x 75 = (80 +4)(80 - 5)
(x+a)(x+b) =x*+ (a+b)x+ab




18. 2(4+2) (42 +22) (4* +2%) (48 +2%) =49 - 204 o, A5 a, b 9]
a+bo 27

@ 2 @ 4 ® 16 @32 ® 64

B

2=4-20]B2

(4-2)(4+2)(4% +22)(4* + 21) (48 + 28)
= (42 - 22)(42 + 22)(4" + 2%)(4° + 29)
— (44 _ 24)(44 + 24)(48 + 28)

= (4% - 25)(4° + 2°)

— 416 _ 916

La+b=16416 = 32




19. x=a@+5 L™, (a-1)(a+2)(a+3)(a+6)=xof T3 AO=Z
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@x2—36 @ x2-6 ® x2+6
@ x*+36 ® x2-12x+36

B

x=ala+5)=a*+5a¥ I,
a—l)( 2)(a+ 3)(a+ 6)
{a=1)(a+6)}{(a+2)(a+3)}
= (a® +5a 6)(a* + 5a + 6)

= (x-6)(x+06)

=x>-36




20. x+y=4, xy=-2< 0 x2+y% 9] F2?

® 5 @ 10

® 15 @20

® 25

X +y% = (x+y)? - 2xy
=42 -2x(-2)
=16+4=20




